This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 21 - Fort William and Ardnamurchan

4,162

4

833

### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Blair ALLAN	Scottish National Party (SNP)	932
Andrew Phillip BAXTER	Independent	1,550
Trevor Ernest ESCOTT	Scottish Liberal Democrats	192
Joanne Elizabeth MATHESON	Independent	177
Niall MCLEAN	Scottish National Party (SNP)	437
Ian RAMON	Scottish Conservative and Unionist	530
Sally SEMPLE	Scottish Labour Party	344
	Total	4,162

Candidate Blair ALLAN Elected with 932 votes, being in excess of the quota of 833 Candidate Andrew Phillip BAXTER Elected with 1,550 votes, being in excess of the quota of 833

This report contains the transfers results.

Stage 2 - Surplus of Andrew Phillip BAXTER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Blair ALLAN	0	0.00000	0.00000
Transfer to Andrew Phillip BAXTER	0	0.00000	0.00000
Transfer to Trevor Ernest ESCOTT	127	0.46258	58.74766
Transfer to Joanne Elizabeth MATHESON	459	0.46258	212.32422
Transfer to Niall MCLEAN	245	0.46258	113.33210
Transfer to Ian RAMON	257	0.46258	118.88306
Transfer to Sally SEMPLE	177	0.46258	81.87666
Value of non-transferable ballot papers			131.83630
	Total		717.00000

This report contains the transfers results.

Stage 3 - Surplus of Blair ALLAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Blair ALLAN	0	0.00000	0.00000
Transfer to Andrew Phillip BAXTER	0	0.00000	0.00000
Transfer to Trevor Ernest ESCOTT	34	0.10622	3.61148
Transfer to Joanne Elizabeth MATHESON	31	0.10622	3.29282
Transfer to Niall MCLEAN	752	0.10622	79.87744
Transfer to Ian RAMON	11	0.10622	1.16842
Transfer to Sally SEMPLE	25	0.10622	2.65550
Value of non-transferable ballot papers			8.39434
	Total		99.00000

This report contains the transfers results.

Stage 4 - Exclusion of Trevor Ernest ESCOTT

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Blair ALLAN	0	0.00000	0.00000
Transfer to Andrew Phillip BAXTER	0	0.00000	0.00000
Transfer to Joanne Elizabeth MATHESON	41	1.00000	41.00000
Transfer to Joanne Elizabeth MATHESON	7	0.10622	0.74354
Transfer to Joanne Elizabeth MATHESON	44	0.46258	20.35352
Transfer to Niall MCLEAN	9	0.46258	4.16322
Transfer to Niall MCLEAN	15	0.10622	1.59330
Transfer to Niall MCLEAN	15	1.00000	15.00000
Transfer to Ian RAMON	55	1.00000	55.00000
Transfer to Ian RAMON	1	0.10622	0.10622
Transfer to Ian RAMON	18	0.46258	8.32644
Transfer to Sally SEMPLE	22	0.46258	10.17676
Transfer to Sally SEMPLE	2	0.10622	0.21244
Transfer to Sally SEMPLE	50	1.00000	50.00000
Value of non-transferable ballot papers			47.68370
	Total		254.35914

This report contains the transfers results.

Stage 5 - Exclusion of Joanne Elizabeth MATHESON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Blair ALLAN	0	0.00000	0.00000
Transfer to Andrew Phillip BAXTER	0	0.00000	0.00000
Transfer to Trevor Ernest ESCOTT	0	0.00000	0.00000
Transfer to Niall MCLEAN	38	1.00000	38.00000
Transfer to Niall MCLEAN	18	0.10622	1.91196
Transfer to Niall MCLEAN	54	0.46258	24.97932
Transfer to Ian RAMON	148	0.46258	68.46184
Transfer to Ian RAMON	3	0.10622	0.31866
Transfer to Ian RAMON	60	1.00000	60.00000
Transfer to Sally SEMPLE	50	1.00000	50.00000
Transfer to Sally SEMPLE	6	0.10622	0.63732
Transfer to Sally SEMPLE	122	0.46258	56.43476
Value of non-transferable ballot papers			153.97024
	Total		454.71410

This report contains the transfers results.

Stage 6 - Surplus of Ian RAMON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Blair ALLAN	0	0.00000	0.00000
Transfer to Andrew Phillip BAXTER	0	0.00000	0.00000
Transfer to Trevor Ernest ESCOTT	0	0.00000	0.00000
Transfer to Joanne Elizabeth MATHESON	0	0.00000	0.00000
Transfer to Niall MCLEAN	17	0.01099	0.18683
Transfer to Niall MCLEAN	3	0.00116	0.00348
Transfer to Niall MCLEAN	19	0.00508	0.09652
Transfer to Ian RAMON	0	0.00000	0.00000
Transfer to Sally SEMPLE	226	0.01099	2.48374
Transfer to Sally SEMPLE	132	0.00508	0.67056
Transfer to Sally SEMPLE	5	0.00116	0.00580
Value of non-transferable ballot papers			5.81771
	Total		9.26464

This report contains the transfers results.

Stage 7 - Exclusion of Sally SEMPLE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Blair ALLAN	0	0.00000	0.00000
Transfer to Andrew Phillip BAXTER	0	0.00000	0.00000
Transfer to Trevor Ernest ESCOTT	0	0.00000	0.00000
Transfer to Joanne Elizabeth MATHESON	0	0.00000	0.00000
Transfer to Niall MCLEAN	1	0.00116	0.00116
Transfer to Niall MCLEAN	30	0.00508	0.15240
Transfer to Niall MCLEAN	42	0.01099	0.46158
Transfer to Niall MCLEAN	16	0.10622	1.69952
Transfer to Niall MCLEAN	75	0.46258	34.69350
Transfer to Niall MCLEAN	99	1.00000	99.00000
Transfer to Ian RAMON	0	0.00000	0.00000
Value of non-transferable ballot papers			463.14538
	Total		599.15354